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Placing Decimals with Multiplication

Name:

Deter mine the placement of the decimal in each product.

=

(7.8)

5.809 x 7.8

1. Count the quantity of numbersto the
right of the decimal for each factor.
5.809 has 3 numbersright of the
decimal (5.809)
7.8 has 1 number right of the decimal

2.

453102

Add the amounts together. Y our answer
should have the same quantity of numbersto
the right of the decimal.

5.089 (3) x 7.8 (1) = 45.3102 (4)

3+1=4

N

Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than

J

\_ 48.
1) 9x8436= 759 2 4

2) 8258x45= 371610
3 47x1= 4 7

4 717x36= 2 5812

5 8334x957= 79756 38
6) ox117= 2 3 4

") 36x886= 31809 6

8) 9x276= 2 4 8 4

9) 927x6.278= 581970 6
10) 13x7.424= 96 5 1 2

1) 2x348= 6 9 6

12) 748x77= 57596

13 18x161= 2 89 8

14) 5x961= 4 8 05

15) 49x2= 9 8

16) 632x86= 5 4 35 2

17) 28x138= 386 4

18) 439 x 8.498= 37306 2 2
19) 11x7548= 8 302 8

10.

11

12.

13.

14.

15.

16.

17.

18.

19.

Answers
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Placing Decimals with Multiplication Name: Answer Key
Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
- 1 75.924
L C.O itles quant_l e LI =SS 2. Add the amounts together. Y our answer
right of the decimal for each factor. ;
, should have the same quantity of numbersto
5.809 has 3 numbers right of the the right of the decimal, 2 37.1610
decimal (5.809) 3+1=4
7.8 has1 numbez 7r.|§g)ht of the decima 5,089 (3) x 7.8 (1) = 45.3102 (4) N 4.7
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but |ess than
4 25.812
5 79.75638
1) 9xg436= 7 5.9 2 4
2) 8258 x45= 37.16 10 6. 2.34
3 47x1= 4.7 7. 31.896
4) _
717 x36= 2 5.8 1 2 . 24 84
5) 8334x957= 7 9.7 56 3 8
9. 58.19706
6) 2x117= 2.3 4
7) 36x886= 3 1.8 9 6 w._ 9.6512
8) 9x276= 2 4.8 4 1 6.96
9 927x6278= 58.19 7 0 6 » 57596
10) 13x7.424= 9.6 5 1 2
' 13, 2.898
11) 5 x348= 6.9 6
14, 48.05
12) 748x77= 5 7.5 9 6
13) 18x161= 2.8 9 8 15. 9.8
14) 5x961= 4 8.0 5 6. 54.352
15) _
49x2= 9.8 17 3864
16) 632x86= 5 4.3 5 2
18, 37.30622
17) 28x138= 3.8 6 4
8.3028
18) 439x8498= 37306 2 2 19
19) 11x7548= 8.3 0 2 8
1-10 [95|89|84 |79 74| 68| 63]58]53] 47|
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